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Please check that this question paper contains 12 printed pages.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 27 questions.
Please write down the Serial Number of the question before attempting it.

15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 am. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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(iii)

(iv)

v)

(vi)
(vii)

J97 G&IT 6 — 10 7% e J97 2 37h] 7 & | 57 F¥1 &1 I I 40 Il & 37ferh
7&7 g1 =13T |
J97 G&IT 11 — 16 TF 3% J97 4 3b] 7 8 | 37 F94] &1 Iedab I 100 Jreg) & 37
7&7 gl Tl |

F97 GEIT17 821 7% Jc9eb F97 5 371 71 & | 57 971 BT I I 150 Ireg] & 37eraw
7&7 &7 =T |

97 G121 HIFE W TETRT 597 & | 391 I 37741 ITR-JIerasT 4 [7ReT |

J97 GEIT22 G 27 7% Jc9eb F97 6 3] 7T & | 57 71 BT I I 150 Freg) & 37eras
7&7 &7 =T |

General Instructions :

(i)
(ii)

(iii)

(iv)

v)

(vi)

(vii)

All questions are compulsory.

Questions number 1 — 5 are of one mark each. The answers to these questions
should not exceed 20 words each.

Questions number 6 — 10 are of two marks each. The answers to these questions
should not exceed 40 words each.

Questions number 11 — 16 are of four marks each. The answers to these questions
should not exceed 100 words each.

Questions number 17 — 21 are of five marks each. The answers to these questions
should not exceed 150 words each.

Question number 21 is a map-based question. Write its answers in your answer-
book.

Questions number 22 — 27 are of six marks each. The answers to these questions
should not exceed 150 words each.

1. 3 Ig o GRM BIS U 1 fehHl Teh WETITeh o H1Y 99 T 1 IS Teh Sl Ay |

59/1/1

State any one reason for the smaller states to remain tied to any one super power

during the Cold War period.



2. frafeiRed 9 & % @1 %o 8 fava =aen’ S I EH F IR AT R 7 1
A.  FHId T ITHHYT Hleh hel] i o ITTd, I 1 Teh Ifth b &I T I |
B. wifead Tu § ‘HuTSETg < HESR TS |
C. fid Jg o SR orell ot o ST TYh U 1 FcT SN hich hoid bl Yk Hia
o |
D. Hifcad 99 1 foree |

Which one of the following statements is true about the beginning of the ‘new world
order’ ?

A. Emerging of Iraq as a power after it invaded and occupied Kuwait.
B.  Weakening of socialism in the U.S.S.R.

C.  The decision of the UN to get Kuwait liberated by force after years of deadlock
during the Cold War.

D. Disintegration of the Soviet Union.

3. 1971 #, ‘et gersn’ w1 I fopua feam st 2 1

In 1971, who gave the slogan ‘Garibi Hatao’ (remove poverty) and why ?

4. I SIS sl STTETIehdT o UeT T hig Ueh IUITh doh ST | 1

Give any one suitable argument to support the need of popular movements.

5. 2014 o < 997 A H YA a1 91l (ATS1aT) 6ht Jherdr & fore, 3mdes foem |
I T R &I €Y T IR § 7 1

In your opinion, which is the major factor responsible for the success of Bharatiya
Janata Party (BJP) in 2014 Lok Sabha Elections ?

6. 1l o fehgl IR UeET <3l o A g | 4x V=2

Name any four member countries of NATO.

7. ‘OrEf wg Srer-3te e’ $9 g < THeH | SIS gl 3gTe 4 | 2x1=2
Give any two examples to support the concept of ‘common but differentiated
responsibilities’.
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8.  JvelteRtur A fopd ep farvereamdt Srmaeht e U fekam 7 2

How has globalization created worldwide interconnectedness ?

0. Tt ‘A" siea few T Fesit g B fow o T et & we frer iR

4x%h=2
T - A gt -B
a.  Hl. TSHIATATERI i R SEe
b.  YATHI JHIE GG ii. qwRgHE I
c. IERAGE iii. T et
d. W, THTEE iv. SRR 9
Match correctly the leaders given in List ‘A’ with the political parties given in
List ‘B’ :
List— A List— B
a.  C.Rajagopalachari 1. Bharatiya Jana Sangh
b.  Shyama Prasad Mukherjee ii.  The Communist Party
c.  Acharya Narender Dev 1ii.  Swatantra Party
d. A.K. Gopalan iv.  Socialist Party
10. T feueran <6 fifa =, T <t alient & R st @rTi=ra feanm 7 2x1=2
In which two ways did the policy of Non-alignment benefit India ?
11. 8= wfh o ®9 § STAEh goied 6l SAre i | 4

Explain the US Hegemony as a hard power.

12.  Ffc T TY SHT HI3 FAAULH WS &1 a1, Al I8k FRATd THOTH 1 Bid ? Tl
<1 forgatt o s HifvT | 2x2=4

If there had not been any international organization like the United Nations, what
would have been the possible consequences ? Explain any two points.
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13.  TAadl o §1¢, YA | TSAT o Y7 <h UfshaT &1 ol Hifw | 4

Describe the process of reorganization of states in India after independence.

14. T I TATY] e T FeATh HIT | 4

Evaluate the nuclear policy of India.

15. cferd derg <t fengl 1 fferfert shi e Hif | 2x2=4

Explain any two activities of the Dalit Panthers.

16. WA TSHAfT H 1990 3 g3reh <hi fohgl o) wgcargut wre1ati w1 s hife | 4x1=4

Describe any four important developments of the 1990s in Indian politics.

17. f=fafgd st i e 9 ufew 3t = feu 7o y9ai & 3o fafau 1+2+2=5

ST wETerfeRa fova o fafir fewal w3t wwma 61 g s o fore geft g8 off | gfrn
Tl T[T < o< 95 T8 ®9 9 9¢ 7% off | WE ° e Hooh ok fotu we T I ot 76 97
3Tt GReT o ToTq, forell Uk meTRIfeh o A1y T T8 3R GHl HETIieh aeil 38 T % o2
% IHTE | &9 &6 |

(a) 379 TS & S Toreqd A <hl 3o T TETIRRal st 8= i |
(b) Gl HeTeRREt o st forve o1 TqE Seam =i g3 2
(c) T TISHGHT o |1, WA o IMMHA = B < Gl JE&T HRUI hl TIT HIT |

Read the passage given below carefully and answer the questions that follow :

The two super powers were keen on expanding their spheres of influence in different
parts of the world. In a world sharply divided between the two alliance systems, a
state was supposed to remain tied to its protective super-power to limit the influence
of the other super-power and its allies.

(a) Identify the two super-powers that were keen to expand their area of influence.
(b)  Why was there a sharp division of the world between the two super-powers ?

(c) Explain the two main reasons for India’s not joining any of the two alliance
systems.
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18. T=fafgd staawer 1 s 9 ufew 37t = feu e y9ai = 3w fafaw 1+2+2=5

“fopelt it TETS H % TG BId & | IIh! HATHIATY STHEL 3T 3TN 3TN Th &L
fomdia &t € | T8 71 37 ST cohet § Y five gehd € 7 e FaTe @ e -
ATt Toif |7 o 3R wfeeret Tifa 6 & ged wamer sfex <6t & | e,
Torfiferen fafafyr o1 SEwd SR 1 HET BT SR 3T W A HEAT BT 2 S Y
BT 4t S1TRT | G AT 3 ST T shl T ohT et foram |

(a) W T & U@ fopf & wugl <ht gt et Srrehiead terT 3tet Wy Uk
T famdia 2 |

(b) ‘A TaHIfd foraTel sl Gorg & foTu 3 ey ygM ol 8 | 30 S I
&g = o TTY 18 T 3greew ST |

(c) IGHM YRd G99 ThR o Tl gl it ot vg=am SHifse St sHfga A 8 |

Read the passage given below and answer the questions that follow :

There are different groups with different and conflicting aspirations. How do we
resolve these differences ? Democratic politics is an answer to this question. While
competition and power are the two most visible things about politics, the purpose of
political activity is and should be deciding and pursuing public interest. This is the

route our leaders decided to take.

(a) Identify any two groups from Indian society which have different aspirations
but opposite to each other.

(b) Give any one example to prove that democratic politics provides alternatives to
resolve the conflicts.

(¢) Identify any two decisions taken by the present Union Government of India
which are in public interest.
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19. f=faRed staawr =t = 9 ufew 3t = feu 7u y9ai = 3w fafau 1+2+2=5

1T AT o TN | Fraf-a T gu-a afifa 3 3 sHeriE H gerd ggard
W1 ATEAM TR | T1Y 3R TaT & IS vt & Y H 37T T ! oot TR T gaTa
M o foTU gSaret 1 I8 3MA k3T T AT | AR 39 | o Raets off | v | 9ra
% T TS AT IeH o HHAN, T§ 1974 H FSaTel W =] Y | IeAel FHHATAT hl
BSATA H ASIGU o AN I SGTa el | 36 g1t & WelgU o TR S8 7Eet dl 36
&, 98 "ara off 337 T 3mraveres Aansti ¥ S gU HHAR 9T TN I oieh gSaTel
Tehd @ A1 TR |

(a) 1974 T 5% {79 §SATS I Aqcd i el a1 &1 419 A |
(b) HTHR BTl HAATET shl gedTel & foeg 1 off ? IE & o Tm T |

(c) o1 I HATHA ¥ IS ASGU IR FHHATNAT I FSATA HA hl AN B
T 7 319 I 6 U1 H IUYH doh ST |

Read the following passage carefully and answer the questions that follow :

A call for nationwide strike was given by all employees of the Railways for pressing
their demands related to bonus and service conditions. The government was opposed
to these demands. So, the employees of India’s largest public sector undertaking went
on a strike in May 1974. The strike by the Railway employees added to the
atmosphere of labour unrest. It also raised the issues like rights of the workers and

whether employees of essential services should adopt measures like strikes.
(a) Name the leader who led the Railway strike in 1974.

(b) Why was the Government of India opposed to the Railway strike ? Explain any

two reasons.

(c) Should the workers and employees of essential services be allowed to go on

strike ? Support your answer with a suitable argument.
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20.

FHR Teu T 1A 1 SHgEh TEEH hifTe qern Fefaiad s 6 ST : 1+2+2=5
(i) Qi e fra co & At 8 7

(i) & 3 ‘A’ & g 38 < <ht iep ifa o 12 g 3T = iy |

(i) T H TIMT T YR 3§ <N ShT STATEAT I HH AT Ug= 7

THEN NOW

HU'S
CAPITALIST

RED o/ l

"POWER
A

Study the Cartoon given above carefully and answer the following questions :

(i) Both the Cartoons are related to which country ?

(i1)) Bring out any two differences in the economic policy of this country between
‘then’ and ‘now’.
(i11)) How has the change shown in the Cartoon benefitted the economy of this country ?

e FrafaRad we e giEaTim wlemiE o for e s 20 % W W E
20.1 HIEH TST AR o 39 YU 1 W faRaw e T8ct @iet I | foo
ITE <h1 off |
202 ‘IEE I gRwTd HIRT |
203 QR % A Ry fomes fawg sttt 3 1ot &1 i o1 R o
R i 2
Note : The following questions are for the visually impaired candidates only in lieu
of Question No. 20

20.1 Name the President of the United States who had won the First Gulf
War.

20.2  Define Hegemony.
20.3 Name any two countries against which the U.S. used its military power
and why ?
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21 . 68° 72° 76° 80° 84° gge g2° a5° 100°
T T T Y T T T T T
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] L
72° 76° 80° 84° 88° 92° 96°

feu e v o Y@r-wEfE 8 e = @ (A), B), (©), (D) 3 (E) g fafa foam mn

2 | M < T8 AR % MY W, $ U= 3T 319 ITH-YfEqent | 3 Hal A1,

TR hT TS STehI <hl SHH ERET qT Hraf-ard 3787 hl &1 T8 dliolehl & &I H feAfgu: 5x 1=5

TR hl TS THHRT <ht ohH T Trafre 3ER TS &1 A
(i)
(i)
(iif)
(iv)
v)

(i) I8 TST YRA I TgeAT TS AT &l 1957 H Uged! T-hTUH! TLehR &1 |

(i) I8 T ST HEHRI G TNE 1 7 T 2 |

(iii) 3T WA o 39 TST 1 1947 H TIaTe o T8, WA 3T UTThEdT b s SiieT T o7 |

(iv) 38 TSI I 31TSE 370 °h ITaTa [0S gofl Je Fehat 7w o |

(v) T&TST 1987 B TIiSd g3 o7 |
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21.
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In the given political outline map of India, five states have been marked as @, ,

@, @ and @ Identify these states with the help of information given below and

write their correct names in your answer book along with the serial number of the
information used and the related alphabet as per the following table.

Serial No. of the Related Alphabet
information used

Name of the
State

(1)

(i1)
(iii)
(iv)

(v)

59/1/1

(1)  This state was the first in India where a Non-Congress government was formed

in 1957.

(i) This state is the birth place of Amul Dairy Co-operative.
(ii1)) This Northern State was divided between India and Pakistan at the time of

partition in 1947.

(iv) This State was given a special status under Article 370.

(v) This State was formed in 1987.
10



e : ffafad s et gfeafia e o foe, T S 21 % WA W E
141+2+1=5
21.1 oI 91 ST IR YT § 37T hish ST TRIT T 7

212 WEdF YR o {8 T |, gl TR-hE] TR &1 off ?

213 fafwrara s a3 T A T 9, 5= 1947 °§ fovsH & w79 W 3K
YTferEd™ o st ferveh feman T e s e 7

214 TGl § Ugd, fore Tt et 3 Tewrg o faga’ feam o 2

Note : The following questions are for the visually impaired candidates only in lieu
of Question No. 21 :

21.1  Which State was carved out of Uttar Pradesh ?
21.2  Which State of free India had the first Non-Congress government ?

21.3  Which two states of British India were bifurcated between India and
Pakistan at the time of partition in 1947 and why ?

21.4  Which political party gave the ‘Two Nation Theory’ before
independence ?

22. e foam #, e frue st 319 form i ah STITERTE B TR ] 7 3T ST %
TH | Toh TEd HIT | 6
e
WIS U I 39T geed (8 wifora @ i forees | s=m S wehar o | 3x2=6

In your opinion, how far has Non-Aligned Movement (NAM) become irrelevant
today ? Give reasons to support your answer.

OR

Suggest any three measures which could have saved the Soviet Union from
disintegration.

23. < I THR gRI 33T T, fehedl <fie gt shewi ot =men Hifsr, fa =it srderaen
T 3§ | 3x2=6

YT
UTfeREaT H T o §1G |, Fa1 W BT 3 Alehad shi YfHehT shi TTE HIFT | 3+3=6

Explain any three major steps taken by the Chinese government which led to the rise
of the Chinese economy.

OR

Explain the role of military and democracy in Pakistan since its independence.
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24. AR 3R R-IReqieh et o o= g oA 37t w8 i | 3x2=6
YA
G TR T Y shi HETEHT H WA T AT ST T ST e, T 3179 g TP
1 geen e § Wea shi Sl Tewrdt 3 foTu ik & diF g ek ol ? Heisy |
Explain any three differences between traditional and non-traditional security.

OR

If you are given a chance to represent India in the U.N. General Assembly, which
three main arguments would you give to support India’s candidature for the
permanent membership of the U.N. Security Council ? Explain.

25, wtawefi fadn & fohedl i Sfvaes gei 1 Ioor@ i | 57 48 & aa™ 2q anft a6
8 JE foh MU E 7 3x2=6
AT
AyetentuT o foregl -9 TenmrcHes ae FehRIcHes TRUMHAT 1 9ui9 HIfST | 3+3=6

Mention any three global issues of environmental concern. What efforts have so far
been made to tackle such issues ?
OR

Describe any three positive and negative consequences each of globalisation.

26. 1975 H UH 3MUTAhIT ENISA hid o fehral TR hRoTt o1 forgerwor SHifsT | 3mmaes fomm &
90 T I B HROT AFETT & 7 4x1% =6
YT
1969 o =g urdf o favrer & fore Saterf forgl i wrenl o fageimor fifvg 1 3x2=6

Analyse any four reasons for the declaration of National Emergency in 1975. In your
opinion, which reasons are justified ?

OR
Analyse any three factors responsible for the split of the Congress Party in 1969.

27. HEI ST ST i foheg] =T HIT ol JUH HINT | 4x1% =6
HAYET
S - hE Y T 9 TSI o gl ©: ST ol Jeoig HIfT | 6x1=6
Describe any four demands of the Narmada Bachao Aandolan.

OR
Mention any six reasons for the conflict-ridden politics of Jammu and Kashmir.
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